Mental Computation (End term 4 - Sample 1)

1 (N5.2)
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2 (N5.2)



– 5 + 3 – 2

















































(−4)
3 (N5.3)



Simplify:

10 : 14











































(5:7)

4 (N5.2)



A $6.45 item is bought with a $10 note.  How much change? 










($3.55)

5 (N5.1)



An $40 item has a discount of 20%.  What is the new price?  










($32)


6 (PA5.2)


Solve the equation:  2x + 5 = 11
































(x=3)


7 (CD5.2)

What is the mean of the numbers:  3, 5, 7?

























(5)

8 (M5.1)


What is the area of a triangle with base 4 cm and height 6 cm?









 (12 m2)

9 (M5.1)


Estimate the area of a circle with a radius of 5 m.



















(75 m2)

10 (M5.1)


What is the volume of a rectangular prism 2 m by 3 m by 4 m?









(24 m3)

Mental Computation (End term 4 - Sample 2)

1 (N5.2)
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2 (N5.2)


– 6 – 2 + 4


















































(−4)
3 (N5.3)


Simplify:

12 : 18












































(2:3)

4 (N5.2)


A $4.95 item is bought with a $10 note.  How much change? 











($5.05)

5 (N5.1)


An $30 item has a discount of 20%.  What is the new price?  











($24)


6 (PA5.2)

Solve the equation:  3x − 2 = 7


































(x=3)


7 (CD5.2)

What is the mean of the numbers:  4, 6, 8?

























(6)

8 (M5.1)


What is the area of a triangle with base 3 cm and height 10 cm?








 (15 m2)

9 (M5.1)


Estimate the area of a circle with a radius of 4 m.



















(48 m2)

10 (M5.1)


What is the volume of a rectangular prism 3 m by 4 m by 5 m?









(60 m3)

Mental Computation (End term 4 - Sample 3)

1 (N5.2)
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2 (N5.2)


9 – 5 – 6




















































(−2)
3 (N5.3)


Simplify:

14 : 16












































(7:8)

4 (N5.2)


A $7.35 item is bought with a $10 note.  How much change? 











($2.65)

5 (N5.1)


An $20 item has a discount of 20%.  What is the new price?  











($16)


6 (PA5.2)

Solve the equation:  4x − 5 = 7


































(x=3)


7 (CD5.2)

What is the mean of the numbers:  4, 7, 10?
























(7)

8 (M5.1)


What is the area of a triangle with base 5 cm and height 8 cm?








 
(20 m2)

9 (M5.1)


Estimate the area of a circle with a radius of 6 m.



















(108 m2)

10 (M5.1)


What is the volume of a rectangular prism 4 m by 5 m by 6 m?









(120 m3)
